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Solution
SECTION A
1. o (& T4720 EZ2x=12
Explanation: SP = £ 4000 3=x<B
1B x =43, 4, 5}
GST = —=4000 1
100 NG
=% 720
-~ Price paid = 4000 + 720 (xi) (O} 5
=% 4720 Explanation:
iy (b < Xx+2x1=7
Explanaton: x* —kx + 4 =10 = x="5
Hﬂ'u'En:r:Lb:—I:,c=4 I::l:l-l} I:b} Ja
For equal roocts D= 0 Explanation:
=h?—dac=0 LA+ 120° = 180°
=) —d4x1=4=0 - £A = B0°
= =16 In AARCY : 907 + 60° LZABD = 15807
= k=4 -~ LARD =300
iy (@) -5 (il (b)) = 4
Explanation: Explanation:
. 1. Elope parallel to x-mxis = O
F'L.ﬂ:l:lr'ng;vf_2 in 4x® +8x+ k - P{3, 4 an m = 0
% 1 = U— Ly = mx— )
::"-4[5] 4_-8[5]4:}_' =0 f_.gl'—-4=|:||:'f—3:|
= w=4
= 1+44+k=0 (xivd {dy 3
— =-5 Explanation:
M) (o) I=1 O, =3x—2
(o 8" gy =1
Explanaton: o = 15 d = -2, g, = fist Oy =4
negatve term Comrmon difference =4 -1 =3
= D_‘-‘15—1-|:.|"I—1:I|:—1} [m fb}glﬂ
0=15-2n+ 2 Explanation:
= n =83 Made A Mean
= n=43 Medion ~ 5 Median
(i) (B) -7 &) ]
fdl) (©) Al Mode = 3 Median — 2 Mean
fwdily (a) F wirits Dividing throughout by rmedian
Explanation: Mede _ , ., Mean
4 Median Median
TP —4qre
3 > me = S—E
3 r="5 hAedian &
g (b {3, 4 5¢ Mean @
Explanation: Medion 10
4 Z2x% -2 <10




(0

(if)

(iid}

(0

(0

P =F 750 Violurne of hernisphere
n= 24 months 2
MV = 19,125 Vp= A% =18z o’
r=7* = Volume of remaining solid
MY = P o Prin+1ir Vi — V3 — Vi = (63z— 9x— 181 oo
2400 = 361 cm®
a2
= 19175= 750x24 4 o0x 2xIExT = 36%== = 11314 crri
2400
= 19125 -18000=1875r (M Sx+4y=12
1195 At x-oxis =10
= = a7e = x =12
1B75% =
ar x=4
r=5%
i P4, )
7m+2n 5 3
Tm-2n 3 SlupenfﬁneSx-:-#g:lEE—I
Applying componendo and dividenda 4
Imsdn+Im—-2n  5+3 - Slope of Lrlina = 3
Tms2n—Tm+2n  5-3
Bquation of line ¥ — uy = mifx —xy)
_, 14m _8 .
an 2 y—0=Z{x—4)
- m _ % Ty = 4x— 16
" (i} (ah ()
LHS = (.i—sinﬂ] ( 1 —m;vEl] 47
sinf cosh
[mnﬂ . -I:-II}S-E] E7.3)
cosH  sing
_ 1 —sin’8) (1-cos8) (sin’6+cos’ 6)
sinf cost sinfi=xcosl - ® s
2 . 3
—, cos @ . ST a - 1
sinfl  cosB snB=cosd E'{7. 3]
=1=EHS5
Volurne of culinder Wy 'EH
V) = Exﬂ:ﬂx}" am® = 63w cm® (B} & (=3.-2)
7 C {0 —4)
Volurme of cona Wy or {4, -1)
1_ .2 2 E{7.-3
Va= Z(3) 3 =9ram () Fish
SECTION B
1B il x +3x—-4=0
Chair: 1BD-D+1DDM1I3[}D =% 2124 Hereg=1,b=3.c=—4
ag _ =beyb? —dac
Vineer : 4000+ -=-x4000 =2 5120 =

Total bill = ¥ 7,244

_ -3= SR - 4x1{—4)

X =
Zxl
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{if)

(i}

o=t

?

3 4 5§ 5§ 7 B 9 10 11
{Waogesin 1000=)
Mode = 5,400

Al =3

' PRSI

_|¥*+2 s0| _f3 0
xy+3y 3y+9 T o 3

= Ix+9=0

=—3
Jy+9=4+3
y=-2

~x=—Fandy=-2
(d) In AABC, £B = 90°
~o50f 907 + SACE = 1807
= JACH = 4A0°
(b} #EAC =40 (Alt interior angles)
ZEAC + /D = 180°
= /D = 1807 - 40°
= FEDC = 140°
() £BEC = £BAC
= SBEC = 507
) =6+ 17x% + dx—12
Putting x =2
=627+ 1727 + 47 12
=484+ 68-5-12
=0
- x+ 2 is afoctor of fx
x+2) B + 176 + 4x— 12{6x" + 5x— 6
+Bx 212
Sx 4 4x— 12
+5x° +10x
Bx-12
~6ix + 12

®

(angle on the same arc)

(0

{if)

(i)

~ T+ 2 (8 + 5x - 6)
) =+ 2 [Bx? + Gx— 4x— 6]
=+ 2) B (Dx+ 3)— 2 (2 + 3]
=(x+2) [(2Zx + 3) (3x- 2]
() Al-1. 3), 64, 2), C(3,-2)
—1+4+3 342-2
3 "3 ]

Centroid G[

G(2, 1)
2_ —
(b} Slope of BC =m = % =4
Equation of line through G, parallel to BC
Y= =m{x—x)
= u-1l=4x-2)
= U-1=4x-8
= u=4x-7

LHS = 1.I|5E1:ﬂ B+cosec’d

= n.'rr_unﬂﬂ slecot B+l

= \'[tunﬂ Becot’Be2=tant cot

(itan = cot @)

=%
=ton b + oot d
=RHS
a+5d=4a
= Ed = 3a -

g[la+5d] =75

20454 =25 _{iy
50 =25 [from (i) & (ii)]
a=>5
d=3
13

W@ o

by {6 12 18, 24}
Pidivisible by mmz&ﬁ=is

2
{€) PMo. less than 16) = % - %
(i W= mﬂm%mﬂ

= Ex ?x?x4+3>c£x Fulud
i 3 7

=616+ 7186
=13346 an®




(iiiy (o) Giver LBAQ =30°

LEDC = ZBAC

{#ngle in the same segment]
LSEDA = 307

fangls in alternate segment)

Im AACT
607 + x + x= 180°
= x =607
Mow LBCD = a0°
- BDis o diometer.
(b) £BCA = £ADA (ongle in some segment)
F£BCA =30° = ZBAC -. isosceles mangle
2+ 100 =13+ 10 < 24 + 10x
-2+ 10x=13x + 10
=12 =3x
4y 0
13x 410 <« 24 4 10x
Ix <14

14

X —

(60° + 307

8. 0

(il
s xel4,-3,-2,-1,0,1,2,3 4

R I A R R
_ P 3
M @ g =3

P = 3K
MO = 5K
FQ=3K+5K=8K

In APRAN Bz APQR
P

Lk

(i)

9.0

(i

MN 2

R T8
(b} £PN = APRR [comesponding angles)
ZPMNM = £PRQ {comesponding angles)

LP=sF (Carmman)
= ARRN ~ APOR (by AAL)
x f f
5 3 15
10 7 70
15 f 15F
20 a 180
25 L] 150
TF=254+7
Tfw = 415 + 157
Mean = E
Zf
16 - 415 415F
25+f
400 + 16f = 415 + 15
f=15
Let o noturol numbers be x By,
x-y=7 ()
iy = 450 iy
(7 + ) =450 [from (i) and (in]
= 7y +y° = 450
=y +7y—450=0
= u? 4+ 25y - 1By —450=10
= yily+25-18u+25=0
— W+ 25 w-18=0
u=-2518
fory=18,x=125
harks f cf
0-10 & 5
10-20 9 14
20-30 16 30
30- 40 22 52
40-50 26 78
50-60 18 a8
B0-70 11 107
FO-80 B 113
BO-90 4 117
a0 - 100 3 120
TF=120
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Mariks —=
th th
(o) Median = [ﬂ] tEnm = [ﬁ] term =
2 2
60" term n = 120
- Median = 43
(by 78

. [ 3n]ﬂ1
(c) Upper quartile Q) = | —| term

4
th
_ [3;-;12{::] cerm
4

=90 term
=57

Jox +2x—6

4
Jex—Jox—g 1

Applying componendo ond dividendo

1"5_.'(-:- Y2x—B -:-1"5_.1'— vIx—f _ 41

VEX 2B S+ 2x—6  4-1
2Ex _S
2x-6 3
Squaring both sides
5 ﬁ
Ix—B 9
= x _5
1x—6 0
= G = 10w — 30
) ¥=30

(i

(it}
F.
Edm
T
G{F P
P Q
In APOR,
ton 60 = E
PO
= - 30
J2
In APTC
tan 30° P
| =
PO
1 _pr
= POx—==
v3
01
= —_ =F|'r
NN
= pr= 20
3
= PT=1666m
= FPT=17m













